KANSAS CORPORATION COMMISSION ORIGINA

OIL & GAS CONSERVATION DIVISION

Form Must Be Typed

WICHITA, KS

WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE

Operator: License # 9090	API No. 15 - 009-25056-0000
Name: Charter Energy, Inc.	County: Barton
Address: P.O. Box 252	NESESESec6Twp16S. R13East West
City/State/Zip: Great Bend, KS 67530	990' feet from S / N (circle one) Line of Section
Purchaser: N.C.R.A.	330' feet from (E) / W (circle one) Line of Section
Operator Contact Person: Steve Baize	
Phone: (620) 793-9090	(circle one) NE SE NW SW
Contractor: Name: Sterling Drilling Company	Lease Name: Bitter Well #: 1
License: 5142	Trann
Wellsite Geologist: Jim Musgrove	Producing Formation: Arbuckle
Designate Type of Completion:	Elevation: Ground: 1915 Kelly Bushing: 1924
New Well Re-Entry Workover	Total Depth: 3351 Plug Back Total Depth:
OilSWDSIOWTemp. Abd.	Amount of Surface Pipe Set and Cemented at 419 Feet
Gas ENHR SIGW	
Dry Other (Core, WSW, Expl., Cathodic, etc)	Multiple Stage Cementing Collar Used?
	• • •
If Workover/Re-entry: Old Well Info as follows:	If Alternate II completion, cement circulated from
Operator:	feet depth to w/sx cmt.
Well Name:	Drilling Fluid Management Plan
Original Comp. Date: Original Total Depth:	(Data must be collected from the Reserve Pit) ALTIWHT (Z-17 4
Deepening Re-perf Conv. to Enhr./SWD	Chloride contentppm Fluid volumebbls
Plug BackPlug Back Total Depth	Dewatering method used
Commingled Docket No	Location of fluid disposal if hauled offsite:
Dual Completion Docket No	Operator Name:
Other (SWD or Enhr.?) Docket No.	
6/6/07 6/12/07 6/22/07	Lease Name: License No.:
Spud Date or Date Reached TD Completion Date or Recompletion Date	Quarter Sec Twp S. R East West
, locality buto	County: Docket No.:
Kansas 67202, within 120 days of the spud date, recompletion, workov Information of side two of this form will be held confidential for a period of 107 for confidentiality in excess of 12 months). One copy of all wireline log-TICKETS MUST BE ATTACHED. Submit CP-4 form with all plugged wells	th the Kansas Corporation Commission, 130 S. Market - Room 2078, Wichita, ver or conversion of a well. Rule 82-3-130, 82-3-106 and 82-3-107 apply. 12 months if requested in writing and submitted with the form (see rule 82-3-s and geologist well report shall be attached with this form. ALL CEMENTING s. Submit CP-111 form with all temporarily abandoned wells.
erein are complete and correct to the best of my knowledge.	
Signature:	KCC Office Use ONLY
itle: President Date: 9-5-	
Subscribed and sworn to before me this $5^{\cancel{m}}$ day of ${\it Septembe}$	If Denied, Yes Date:
M7	Wireline Log Received RECEIVED
1 Maria Mana	Geologist Report Receive LANSAS CORPORATION COMMIS
lotary Public: 14/01/00 17/0000	UIC Distribution
Date Commission Expires: 2-17-2009	SEP 0 6 2007
A NOTARY PUBLIC - State of Kansa	CONSERVATION DIVISION
E EE HOUSE A DESTRUCTION OF THE PER PER PER PER PER PER PER PER PER PE	W H

Operator Name: Charl	ter Energy, Inc.			Lease	Name:_B	itter		Well #:	
Sec. 6 Twp. 16					Barton				
INSTRUCTIONS: Shot tested, time tool open temperature, fluid reco	and closed, flowi	ng and shut-i es if gas to s	n pressures urface test,	s, whether she along with fir	ut-in pre:	sure reache	ed static level, hyd	frostatic pressur	es, bottom hole
Drill Stem Tests Taken (Attach Additional S		✓ Yes	s No		Lc	g Form	ation (Top), Depth	and Datum	 Sample
Samples Sent to Geole	ogical Survey	✓ Yes	s No		Name Heebr			Top 3033	Datum -1109
Cores Taken		Yes	No 🗸 No		Toron	0		3051	-1127
Electric Log Run		Yes	s ✓ No		Dougl	as		3067	-1143
(Submit Copy)					Lansir	g		3103	-1179
List All E. Logs Run:					Arbuc	kle		3351	-1427
Purpose of String	Size Hole Drilled	Size Set (all strings set Casing In O.D.)	-conductor, sur Weigl Lbs. /	ht Ft.	Setting Depth	Type of Cement	# Sacks Used	Type and Per Additives
Surface	12 1/4	8 5/8		23		119	Common	225	
Production	7 7/8	5 1/2		14		3350	Common	125	
	1		ADDITIONA	L CEMENTIN	G / SQUE	EZE RECO	RD		
Purpose: —— Perforate —— Protect Casing —— Plug Back TD —— Plug Off Zone	Depth Top Bottom	Туре о	f Cement	#Sacks L	Jsed		Type and	Percent Additives	
Shots Per Foot	PERFORAT Specify	ION RECORD Footage of Ea	- Bridge Plu	gs Set/Type		Acid, F	racture, Shot, Cemer	nt Squeeze Record	d Deg
						150 gallons	15% INS		3351
TUBING RECORD 2 7/8	Size	Set At 3345		Packer At		Liner Run	Yes No)	
Date of First, Resumerd P 7 / 2 / 07	roduction, SWD or I	Enhr. F	Producing Me		Flowing	√ Pum	oing Gas L	ift Othe	r (Explain)
Estimated Production Per 24 Hours	Oil 15	Bbls.	Gas	Mcf	Water 250		Bbls.	Gas-Oil Ratio	Gravi

CONSERVATION DIVISION WICHITA, KS

24 S. Lincoln Street P.O. Box 31

Russell, KS 67665-2906

Voice: Fax:

(785) 483-3887 (785) 483-5566

Charter Energy Co. P. O. Box 252

Great Bend, KS 67530

N	V	O	ı	C	F
	W	U		v	

Invoice Number: 108693

Jun 13, 2007 Invoice Date:

Page:

Federal Tax I.D.#: 7

(1.2) Customer D	Well Name/#on customer/Po	Services - Plymen	र्गेट्स इंटर्ड
Char E	Bitter #1	, Net 30	Days
#disc #SalesiRep D. D.	WCamp Location	Service Date V.	dopphi //
	Russell	Jun 13, 2007	7/13/07

 			 		11 10, 2001	77 10/07
Quantity 19		ltem 🚟	Description		Junit Price	Aujounie 4-
225.00	MAT		Common	T1 (2 (10) (10) (10) (10)	11.10	2,497.
4.00	MAT	west in the	Gel		16.65	1
7.00	MAT		Chloride		46.60	i .
236.00	SER		Handling		1.90	
<u>ት እን³ 15.00</u>	SER	粉色宝白 工	Mileage 236 sx @ 09 per sx per mi		21,24	-318.6
1.00	SER	· With	Pump, Truck Charge	- !	815.00	815.0
15.00	SER		Mileage		6.00	90.0
1.00	EQP	•	Wooden Surface Plug		65.00	65.0
					, . ⊬in	
		. • .				
į					,e	\$5 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
		22.156 ·			\$	•
		1.8 m 1 m 1				·
					KANSAS CORPO	CEIVED RATION COMMISSION
				j	TOTAL OCKE	PHON COMMISSION
					SEP	5 20 07
					CONSERV. WIC	NTION DIVISION HITA KS
ALL PRICES AF	RE NE	T PAYARI	E Subtotal			4,627.

30 DAYS FOLLOWING DATE OF INVOICE. 11/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

ONLY IF PAID ON OR BEFORE

Jul 13, 2007

Subtotal	4 607 20
Subtotal	4,627.30
Sales Tax	193.57
Total Invoice Amount	4,820.87
Payment/Credit Applied	
TOTAL	4,820.87 بر ا

- 462.73 4358,14

24 S. Lincoln Street P.O. Box 31

Russell, KS 67665-2906

Voice: Fax:

(785) 483-3887 (785) 483-5566

Charter Energy Co.

P. O. Box 252 Great Bend, KS 67530 INVOICE

Invoice Number: 108711

Invoice Date: Jun 15, 2007

Page:

RECEIVED PORATION COMMISSION Federal Tax I.D.#:/

SEP 0 6 2007

CONSERVATION DIVISION WICHITA, KS

Customer.ID	-Well Name/#:or Customer P.O.	, ucPaymen	Terms
Char E	Bitter #1	. Net 30	Days
Sales Rép ID	[4] [argue] [4] [4] [argue] [4] [argue] [4] [argue] [4] [argue] [4] [argue] [4] [4] [argue] [4] [argue] [4] [argue] [4] [argue] [4] [argue] [4] [4] [argue] [4] [ServiceDate*	ig S Due Date :
	Russell	Jun 15, 2007	7/15/07

Quantity	item 🥫	Description	Unit Price	Amount
125.00		Common	11.10	1,387.50
12.00	1	Salt	19.20	230.40
500.00	MAT	WFR-2	1.00	500.00
137.00	SER	Handling	1.90	260.30
1.00	SER	Mileage ,	250.00	- 250.00
1.00	SER	Pump Truck Charge	1,610.00	1,610.00
20.00	SER	Mileage	6.00	120.00
1.00	EQP	Triplex Shoe	1,550.00	1,550.00
1.00	EQP	Latch down Assembly	410.00	410.00
5.00	EQP	Centralizers	50.00	250.00
	c k	Je .	Dr 6250	
ALL PRICES AR	RE NET, PAYABLI	Subtotal		6.568.20

30 DAYS FOLLOWING DATE OF INVOICE. 11/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

\$ 65682

ONLY IF PAID ON OR BEFORE

Subtotal	6,568.20
Sales Tax	283.48
Total Invoice Amount	6,851.68
Payment/Credit Applied	
TOTAL	6.851.68

din -656.82 6194.86